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= T iid MR T AKX A: B2 77| (martingale difference series)
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o —MFEN, % FBMEAMBASMILLIE, TilANKELRIEME (linear restriction

matrix) Rixx AR BAREE rrv:
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o R LAMRIAFAES V. X1,..., Xy, FHAY =3, X2 69 Ak
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o LS AL, T Mt T Wald it £

Wr = & (b6 RV 'RY) & = ——BLRT(RM;'R") ' Rpr
e, T
MM y2(L)-27, AR % Wald 4%

o % Wr 894 AR Wr = --bIR"(RM;'R") ' Rbr X F a-2% 115 44 (2 (L),

S B pA Pr(Wr > Wr) 1 F 2 HAF o, 8% Ho: RE = r
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] ’F’E%" AR(p) AR . Xt = ¢1Xt_1 + -+ (PpXt_p + &4, {St} ﬁd, O—jg/fﬁ
o B HA (X}, AR(p) Bt OLS © 8 4EIH X :

t=1’
Y=X¢p+e¢
Xy Xal [% - x o1
Y= : [, X=] :|=|: . i |,9=]:
Xr X7 Xr-1 - Xr—p Pp
o OLS #it%&: ¢r=(X"X)' XY
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o —EM: FAM = Eler|Ximt, Xiea, ..., Xi_y] =0, B E[e/|XT] =0, %
Ty, Xie; =0
o BUNM: RBATRIEX e RIEFT, FMTENDEZ = Xijer ¥k
£2/7), Vi=1,...,p
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E[et11]X¢] = Eéern =0
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